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6 OstwaldFarben (o)
von maximalem (m)C,g im
linearen Farbenraum (Cyg . Y)
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Lichtart C00, Y,,=100 Y20 0Cs @
Name Berienx, 2, &y, g A
R, 567,775 6125 3934 0% ‘0607t 030 56 457
Y, 492775 78.47 94.03 715 04367 05233571 463
G, 492567 17.41 5488 71 02192 0.6912535 535¢

C, 380567 37.0 6085 118.170.1713 0.2816 487 536 Parameter:
B, 380492 19.79 616 1113 0.1442 0.0449463 571 Y & Name
M, 567_492 80.85 45.31 111.350.3404 01907 535535 ;
567 4
W) 380775 96,07 1000 11622031 03161 100% Lichtart CO0
N, 380_775009 01 011 03099 0.316 0% Y,,=100 Y, =0

7,380 7751765 180 2128 031 03161 18%
BGP51-6A




